DWG. FORM : (594x420)

FIRE SERVICE JEWEL

120 [4 3/4"]

FIRE_SERVICE KEY SWITCH
Y=3502 (3 WAY)
<MONITOR>

ACCESS KEY SWITCH

(INNOVATION) \

HALL STATION
HMB-S08
"Up”

FACE PLATE
STAINLESS STEEL #4

100 [3 7/87] 3[1/8"] 90 [31/2"] BOX
I e =]
AN i \
N ‘
‘ HALL STATION
o [ HMB—S08
N \ uP
© - |
& \
— ‘ o
© | o
N [ HALL STATION
oXla [ 2 HMB—S08
Rm| g (= "DOWN"
Sl | 2
M \ N
o \
ol \ FACE PLATE
i \ STAINLESS STEEL #4
&, \
\
In \
n g \
oN |

HALL BUTTON (HBM—001)

BOTTOM TERMINAL FLOOR

"1” FLOOR, QTY : 1 EA
102 [47] 89 [3 1/2"]
BOX
&
BUZZER *T;\Tf | i ——— -7
R ; 3 I }
WHITE JEWEL | |
ﬁ _
6.35 [1/4”] HIGH } N }
ENGRAVING Qm 5
FILLED RED ! } = } I
\J\'\\ELEVATOR | ) t{ | ; 3
[COMMUNICATION o2 - | N
BUZZER KEY SWITCH | FALURE | 25l | =]
(3WAY) | | r\: e | A
| — < | w2
NG | | &g
Y |
I I I [
} sl 1 £§ o I }
L LTl ] 0 B | — 14
<
i | EP——
| [ —
\ | %
\ ” “ \ Sé COMMUNICATION (K—TECH /ENC124)
} } n,m BOTTOM TERMINAL FLOOR
| O | 2 "1" FLOOR (ONLY), QTY : 1 EA
(I |

CcuTOUT

76 [3"] BOX
82 [3 1/4”]

120 [4 3/4"]

100 [3 7/8"] 3 [1/8"] 90 [3 1/2"]

85 [3 3/8"]

80 [3 1/8"]
230 [9"]

250 [9 7/8"]

85 [3 3/8"]

HALL BUTTON (HBM—R41)

INTERMEDIATE FLOOR
"2,3,4” FLOORS, QTY :

3 EA

SPECIFICATIONS

MATERIAL :
COVER — 1/8" [3t] W/ STAINLESS STEEL #4
BOX — 1/16” [1.5t]. EGI

SPANNER BOLT — M5 x 3/4" [20] SPANNER HEAD

BUTTONS : HMB-S08 (RED ARROW)
1.1/2" [37] DIA. STAINLESS STEEL BUTTON

KEY SWITCH :

ACCESS — INNOVATION 025018-002

ACCESS KEY SWITCH

(INNOVATION) \

HALL STATION

HMB-S08
"DOWN"

FACE PLATE

STAINLESS STEEL #4

1-3/8" [35] DIA. BLACK PLST INSERT, WHITE LETTERING.

KEY REMOVABLE @ UP, OFF, DOWN
SUPPLIED WITH 2 KEYS PER STATION

FIRE SERVICE :

FIRE KEY SWITCH — Y-3502 (3 POSITIONS) MONITOR /

1-3/8" [35] DIA. BLANK RED PLST INSERT,
KEY REMOVABLE @ BYPASS, OFF, ON
SUPPLIED WITH 2 KEYS PER STATION

FIRE SERVICE JEWEL — 1 1/2” [37] WHITE PLST,
RED ENGR

COMMUNICATION :
COMMUNICATION ALARM — K—TECH / ENC124
"1” FLOOR ONLY

ENGRAVING :
1/4” [6] — RED — FIRE RECALL

1/4” [6.35] — RED — ELEVATOR COMMUNICATION FAILURE

120 [4 3/4"]

100 [3 7/8"] 3 [1/8"] 90 [3 1/2"]

75 [3"]

150 [5 7/8"]
300 [11 3/4"]

75 [3"]

Y S

HALL BUTTON (HBM—R41)

TOP TERMINAL FLOOR
"5” FLOOR, QTY : 1 EA




DWG. FORM : (594x420)

21 [7/8"]

CAR ENTRANCE COLUMN

106 [4 1/8"]

64 [2 1/2"]

21 [7/8"]

|95 [3 3/4"

310 [12 1/4"]

100 [3 7/8"]

30
11/8"

100 [3 7/87]

TO FLOOR LEVEL 1829 [72"]

TRANSPARENCY

ACRYLIC

100 [3 7/8"]

100 [3 7/8"]

CAR LANTERN

17 [5/8"]

S

(HLI—003)

QTY :

2 EA

FACE PLATE

STAINLESS STEEL #4

360 [14 1/8"]

340 [13 3/8"]

250 [9 7/8"]

60 [2 3/8"]

90 [3 1/2"]

ACRYLIC
GROUND COLOR : BLACK

CAR DIRECTION ARROW,
RED LED DISPLAY

|
RED LED DISPLAY

CAR POSITION INDICATOR
RED LED DISPLAY

HALL POSITION INDICATOR

(HID—C001)
"1” FLOOR, Q'TY : 1 EA

SPECIFICATIONS

MATERIAL :
COVER — 1/8" [3t] W/ STAINLESS STEEL #4
BOX - 1/16" [1.5t]. EGI
SPANNER BOLT — M5 x 3/4” [20] SPANNER HEAD

LANTERN :
2 1/2” [65] TRANSPARENCY ACRYLIC — SQUARE
GREEN COLOR LIGHT "UP"
RED COLOR LIGHT "DOWN"

ACCESSORIES :
DIG. READOUT — HID—CO001, 2 3/4"H. DISPALY
W/ STD. BLACK LENS

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, -
77777777777777777777777777 [~ 177
I
T
eee eee [ ==
Iniwk
s s FULLL ool
|| e =
[ X X ) [ X X ) 1 ol |0
® ee e Uy 22
[ ] [ X ) [ ]
eee eee INSP R 8 8
\ \ ]
I
,,,,,,,,,,,,,,,,,,,,,, I
,,,,,,,,,,,,,,,,,,,,,,, _
CAR_SIGN

25 [1"]






